INTERNATIONAL LABORATORY GROWN DIAMOND REPORT
GEMOLOGICAL LG700513634
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ELECTRONIC COPY IG1 Report Number LG700513634
Description LABORATORY GROWN DIAMOND
LABORATORY GROWN DIAMOND REPORT aoiee DUl o O T
Measurements 9.92 X 7.01 X 441 MM
GRADING RESULTS
June 5, 2025 Carat Weight 1.91 CARAT
Color Grade D
IGI Report Number LG700513634 Tl T e
Description LABORATORY GROWN DIAMOND PROPORTIONS
Shape and Cuftting Style OVAL BRILLIANT —  58% — ~ 159 LG 3634
—_ v
Measurements 9.92 X 7.01 X 4.41 MM MediumTo 40,
Thick IR
GRADING RESULTS (Faceted) T X
629% Sample Image Used - b 58%
Carat Weight 1.91 CARAT 43% Medium 7o 'oF, T
Tpickt ! 62.9%
Color Grade D l N 1 (Faceted) 439 l
Clarity Grade VVS 1 Pointed 1 N
Pointed
ADDITIONAL GRADING INFORMATION
Polish EXCELLENT COLOR ADF)ITIONAL GRADING INFORMATION
D EF G H I J Faint Very Light Light el EXCELLENT
Symmetry EXCELLENT Symmetry EXCELLENT
Fluorescence NONE |::§:§:;i?sc)e @ LG7005’\:§)233
Inscription(s) (31 LG700513634 CLARITY Comments: As Grown - No indication of post-growth
1-2 i ¥ 7 1-3 treatment.
Comments: As Grown - No indication of post-growth F s v - : 'T)his Lobo'_rroTﬁr\T/ Grown TDiomﬁ;STwos crﬁ]oTed by High
treatment. Intemnally Very Very Very Slightly Included T;?;lﬁre jongllerierap e ighAgrovih bigcss,
This Laboratory Grown Diamond was created by High Flawless Slightly Included Slightly Included Included
Pressure High Temperature (HPHT) growth process.
Type I

£° 55517 BEEED S
© £ K a a Z 2 é F
b ° oo 8 2
2 €& 58 § H gﬁ
3 Q
3 5 ET
g = 2 § a2
a2
7 2
. . : g 3 B 532
© IGI 2020, International Gemological Institute FD-1020 3 = 25 :g
s 5%
e2% X5 8 8 5 Lt
883 228 § FEE Bisalds
s 88 52 > o g g5 g g=
L. &8J X555 ££228 55 EQE SESZR
www-l |.°r 3 THIS DOCUMENT WAS PRODUCED WITH THE FOLLOWING SECURITY MEASURES: SPECIAL DOCUMENT PAPER, INK SCREENS, WATERMARK g & 3 O S g 9 = 5 £ E (_3) 2 K
g g BACKSROUND DESIGNS, HOLOGRAM AND OTHER SECURITY FEATURES NOT LISTED AND DO EXCEED DOCUMENT SECUHITY INDUSTRY GUDELINES. 388 §38 08¢0 0&ait 52 = U§>§



